| | | Summary of Bids Receiv | ed | | | |
|------------------------------------------|------------------------------------------|------------------------------------------------|-------------------------|----------------------------------|-----------------------------------------|----------------------------------------------|
| | Project: Detention Basin Retrofits | | | | | |
| 5 | Section: 15-00999-10-DR | | | | | |
| | ription: Improve Functionality of Basing | 5 | | | | |
| | MS Pin: B-01067 | | | | | |
| Le | et Date: 5/17/2016 | | | | | |
| Bidder Campanella & Sons, Inc. | Address 39207 N Magnetics Blvd | City, State, Zip Wadsworth, IL 60083 | Bond Bid Bond | Bid Price \$210,492.46 | % Over/Under Eng. Estimate -7.33% | \$ Over/Under Eng Estimate -\$16,651.4 |
| Campanena & Sons, inc. | 59207 N Magnetics bivu | | Bia Bolia | 3210,492.40 | -7.5576 | -310,031.2 |
| Engineer's Estimate | | | | \$227,143.90 | | |
| Design | IDOT(2) | Contract Bidder | PJ | IT then Plan Rack | | |
| Finance | Bid Tab File | Resident Eng. | Ad | dministrative Assis | tant | |
| Construction | Project File | Request By Mail | M | Igr Capital Progran | nming | |

Bid Tabulation

Project:Detention Basin RetrofitsSection:15-00999-10-DR

Description: Improve Functionality of Basins

CPMS Pin: B-01067

Let Date: 5/17/2016

| | | | Г | | | | Campanella & Sons, | |
|----------|----------|--------------------------------------------------------|----------|-------|--------------|--------------|--------------------|--------------|
| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Inc. | |
| | | | | | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 1 | 20200100 | EARTH EXCAVATION | 899.0 | CU YD | \$20.00 | \$17,980.00 | \$42.72 | \$38,405.28 |
| 2 | 21101505 | TOPSOIL EXCAVATION AND PLACEMENT | 303.0 | CU YD | \$40.00 | \$12,120.00 | \$33.80 | \$10,241.40 |
| 3 | 25100630 | EROSION CONTROL BLANKET | 10,480.0 | SQ YD | \$1.00 | \$10,480.00 | \$1.75 | \$18,340.00 |
| 4 | 28100107 | STONE RIPRAP, CLASS A4 | 145.0 | SQ YD | \$50.00 | \$7,250.00 | \$106.25 | \$15,406.25 |
| 5 | 28200200 | FILTER FABRIC | 145.0 | SQ YD | \$5.00 | \$725.00 | \$7.06 | \$1,023.70 |
| 6 | 54213657 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12" | 1.0 | EACH | \$500.00 | \$500.00 | \$1,767.85 | \$1,767.85 |
| 7 | 54213669 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24" | 1.0 | EACH | \$1,500.00 | \$1,500.00 | \$1,928.85 | \$1,928.85 |
| 8 | 54214073 | ALUMINUM END SECTIONS 8" | 1.0 | EACH | \$400.00 | \$400.00 | \$747.00 | \$747.00 |
| 9 | 54244405 | FLUSH INLET BOX FOR MEDIAN, STANDARD 542546 | 1.0 | EACH | \$5,000.00 | \$5,000.00 | \$7,207.35 | \$7,207.35 |
| 10 | 550A0050 | STORM SEWERS, CLASS A, TYPE 1 12" | 9.0 | FOOT | \$50.00 | \$450.00 | \$138.70 | \$1,248.30 |
| 11 | 550A0120 | STORM SEWERS, CLASS A, TYPE 1 24" | 9.0 | FOOT | \$100.00 | \$900.00 | \$168.07 | \$1,512.63 |
| 12 | 55101200 | STORM SEWER REMOVAL 24" | 7.0 | FOOT | \$25.00 | \$175.00 | \$65.00 | \$455.00 |
| 13 | K0026852 | PRAIRIE WEED CONTROL | 8.7 | ACRE | \$1,000.00 | \$8,700.00 | \$925.00 | \$8,047.50 |
| 14 | LC200051 | REJECTED LOAD TRANSPORTATION | 6.0 | LOAD | \$500.00 | \$3,000.00 | \$565.84 | \$3,395.04 |

| × | LakeCounty |
|----|----------------------------|
| 30 | Division of Transportation |

Bid Tabulation

Project:Detention Basin RetrofitsSection:15-00999-10-DR

Description: Improve Functionality of Basins

CPMS Pin: B-01067

Let Date: 5/17/2016

| | | | | | | | Campanella & Sons, | |
|----------|----------|------------------------------------------------------|----------|-------|----------------------------|--------------|--------------------|--------------|
| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate Unit Price | Extnd. Price | Inc. Unit Price | Extnd. Price |
| 15 | LC200110 | WEED CONTROL, NON-SELECTIVE AND NON- RESIDUAL | 2.5 | ACRE | \$1,000.00 | \$2,500.00 | \$465.00 | \$1,162.50 |
| 16 | LC200372 | PERENNIAL PLANTINGS, WETLAND TYPE, SPECIAL II | 45.0 | UNIT | \$550.00 | \$24,750.00 | \$400.00 | \$18,000.00 |
| 17 | LC200373 | PERENNIAL PLANTINGS, WETLAND TYPE, SPECIAL III | 26.0 | UNIT | \$550.00 | \$14,300.00 | \$405.00 | \$10,530.00 |
| 18 | LC200451 | SEEDING, SPECIAL I | 63,163.0 | SQ FT | \$0.50 | \$31,581.50 | \$0.07 | \$4,421.41 |
| 19 | LC200452 | SEEDING, SPECIAL II | 30,974.0 | SQ FT | \$0.60 | \$18,584.40 | \$0.08 | \$2,477.92 |
| 20 | LC200501 | MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS | 10,033.0 | UNIT | \$1.00 | \$10,033.00 | \$1.00 | \$10,033.00 |
| 21 | X0327120 | WEED CONTROL, NATIVE LANDSCAPE ENHANCEMENT | 6.2 | ACRE | \$2,000.00 | \$12,400.00 | \$925.00 | \$5,735.00 |
| 22 | X2503000 | MAINTENANCE MOWING | 12.2 | ACRE | \$1,000.00 | \$12,200.00 | \$410.00 | \$5,002.00 |
| 23 | X5424505 | FLUSH INLET BOX FOR MEDIAN, STANDARD 542546, SPECIAL | 1.0 | EACH | \$6,500.00 | \$6,500.00 | \$8,505.10 | \$8,505.10 |
| 24 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$7,000.00 | \$7,000.00 | \$12,500.00 | \$12,500.00 |
| 25 | XX005238 | TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH | 152.0 | CU YD | \$40.00 | \$6,080.00 | \$72.00 | \$10,944.00 |
| 26 | Z0013797 | STABILIZED CONSTRUCTION ENTRANCE | 238.0 | SQ YD | \$40.00 | \$9,520.00 | \$23.71 | \$5,642.98 |

| 業 | LakeCo Division of | Dunty Transportation | | | | | | | |
|----------|-----------------------|----------------------------------|----------|------|--------------|-----------------------|----------------------------|--------------|--|
| Bid Tab | ulation | | | | | | | | |
| | Project: | Detention Basin Retrofits | | | | | | | |
| | Section: | 15-00999-10-DR | | | | | | | |
| | Description: | Improve Functionality of Basins | | | | | | | |
| | CPMS Pin: | B-01067 | | | | | | | |
| | Let Date: | 5/17/2016 | | | | | | | |
| ltem No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Campanella & Sons, Inc. | | |
| | , | | 2 | | Unit Price | Extnd. Price | Unit Price | Extnd. Price | |
| 27 | Z0018700 | DRAINAGE STRUCTURE TO BE REMOVED | 2.0 | EACH | \$500.00 | \$1,000.00 | \$512.50 | \$1,025.00 | |
| 28 | Z0055905 | TEMPORARY CONSTRUCTION FENCE | 505.0 | FOOT | \$3.00 | \$1,515.00 | \$9.48 | \$4,787.40 | |
| | Bid Total | | | | | \$227,143.90 \$210,49 | | | |

| 彩 | LakeCo Division of | Dunty Transportation | | | | | | | |
|----------|------------------------|--------------------------------------------------------|----------|-------|--------------|--------------|----------------|----------------|----------------|
| Return | Bid Detai | ils | | | | | | | |
| | | Detention Basin Retrofits | | | | | | | |
| | Section: | 15-00999-10-DR | | | | | | | |
| | • | Improve Functionality of Basins | | | | | | | |
| | CPMS Pin: Let Date: | | | | | | | | |
| | Let Dute. | | | | Eng Estimate | | | | |
| ltem No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
| | | | | | | | | | |
| 1 | 20200100 | EARTH EXCAVATION | 899.0 | CU YD | \$20.00 | \$17,980.00 | \$42.72 | \$42.72 | \$42.72 |
| 2 | 21101505 | TOPSOIL EXCAVATION AND PLACEMENT | 303.0 | CU YD | \$40.00 | \$12,120.00 | \$33.80 | \$33.80 | \$33.80 |
| 3 | 25100630 | EROSION CONTROL BLANKET | 10,480.0 | SQ YD | \$1.00 | \$10,480.00 | \$1.75 | \$1.75 | \$1.75 |
| 4 | 28100107 | STONE RIPRAP, CLASS A4 | 145.0 | SQ YD | \$50.00 | \$7,250.00 | \$106.25 | \$106.25 | \$106.25 |
| 5 | 28200200 | FILTER FABRIC | 145.0 | SQ YD | \$5.00 | \$725.00 | \$7.06 | \$7.06 | \$7.06 |
| 6 | 54213657 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12" | 1.0 | EACH | \$500.00 | \$500.00 | \$1,767.85 | \$1,767.85 | \$1,767.85 |
| 7 | 54213669 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24" | 1.0 | EACH | \$1,500.00 | \$1,500.00 | \$1,928.85 | \$1,928.85 | \$1,928.85 |
| 8 | 54214073 | ALUMINUM END SECTIONS 8" | 1.0 | EACH | \$400.00 | \$400.00 | \$747.00 | \$747.00 | \$747.00 |
| 9 | 54244405 | FLUSH INLET BOX FOR MEDIAN, STANDARD 542546 | 1.0 | EACH | \$5,000.00 | \$5,000.00 | \$7,207.35 | \$7,207.35 | \$7,207.35 |
| 10 | 550A0050 | STORM SEWERS, CLASS A, TYPE 1 12" | 9.0 | FOOT | \$50.00 | \$450.00 | \$138.70 | \$138.70 | \$138.70 |
| 11 | 550A0120 | STORM SEWERS, CLASS A, TYPE 1 24" | 9.0 | FOOT | \$100.00 | \$900.00 | \$168.07 | \$168.07 | \$168.07 |
| 12 | 55101200 | STORM SEWER REMOVAL 24" | 7.0 | FOOT | \$25.00 | \$175.00 | \$65.00 | \$65.00 | \$65.00 |
| 13 | K0026852 | PRAIRIE WEED CONTROL | 8.7 | ACRE | \$1,000.00 | \$8,700.00 | \$925.00 | \$925.00 | \$925.00 |

| | LakeC(Division of | Ounty Transportation | | | | | | | |
|----------|------------------------------------------------------------------------------|-------------------------------------------------------------------------------------------|----------|-------|--------------|--------------|----------------|----------------|----------------|
| | Bid Detain Project: Section: Description: CPMS Pin: Let Date: | Detention Basin Retrofits 15-00999-10-DR Improve Functionality of Basins B-01067 | | | | | | | |
| | | | | | Eng Estimate | | | | |
| ltem No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
| 14 | LC200051 | REJECTED LOAD TRANSPORTATION | 6.0 | LOAD | \$500.00 | \$3,000.00 | \$565.84 | \$565.84 | \$565.84 |
| 15 | LC200110 | WEED CONTROL, NON-SELECTIVE AND NON- RESIDUAL | 2.5 | ACRE | \$1,000.00 | \$2,500.00 | \$465.00 | \$465.00 | \$465.00 |
| 16 | LC200372 | PERENNIAL PLANTINGS, WETLAND TYPE, SPECIAL II | 45.0 | UNIT | \$550.00 | \$24,750.00 | \$400.00 | \$400.00 | \$400.00 |
| 17 | LC200373 | PERENNIAL PLANTINGS, WETLAND TYPE, SPECIAL III | 26.0 | UNIT | \$550.00 | \$14,300.00 | \$405.00 | \$405.00 | \$405.00 |
| 18 | LC200451 | SEEDING, SPECIAL I | 63,163.0 | SQ FT | \$0.50 | \$31,581.50 | \$0.07 | \$0.07 | \$0.07 |
| 19 | LC200452 | SEEDING, SPECIAL II | 30,974.0 | SQ FT | \$0.60 | \$18,584.40 | \$0.08 | \$0.08 | \$0.08 |
| 20 | LC200501 | MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS | 10,033.0 | UNIT | \$1.00 | \$10,033.00 | \$1.00 | \$1.00 | \$1.00 |
| 21 | X0327120 | WEED CONTROL, NATIVE LANDSCAPE ENHANCEMENT | 6.2 | ACRE | \$2,000.00 | \$12,400.00 | \$925.00 | \$925.00 | \$925.00 |
| 22 | X2503000 | MAINTENANCE MOWING | 12.2 | ACRE | \$1,000.00 | \$12,200.00 | \$410.00 | \$410.00 | \$410.00 |
| 23 | X5424505 | FLUSH INLET BOX FOR MEDIAN, STANDARD 542546, SPECIAL | 1.0 | EACH | \$6,500.00 | \$6,500.00 | \$8,505.10 | \$8,505.10 | \$8,505.10 |
| 24 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$7,000.00 | \$7,000.00 | \$12,500.00 | \$12,500.00 | \$12,500.00 |
| 25 | XX005238 | TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH | 152.0 | CU YD | \$40.00 | \$6,080.00 | \$72.00 | \$72.00 | \$72.00 |

| | LakeCounty Division of Transportation | | | | | | | | | | |
|----------|------------------------------------------|----------------------------------|----------|-------|--------------|--------------|----------------|----------------|----------------|--|--|
| Return | Return Bid Details | | | | | | | | | | |
| | Project: Detention Basin Retrofits | | | | | | | | | | |
| | Section: | 15-00999-10-DR | | | | | | | | | |
| | Description: | Improve Functionality of Basins | | | | | | | | | |
| | CPMS Pin: | B-01067 | | | | | | | | | |
| | Let Date: | 5/17/2016 | | | | | | | | | |
| | | | | | Eng Estimate | | | | | | |
| ltem No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price | | |
| 26 | Z0013797 | STABILIZED CONSTRUCTION ENTRANCE | 238.0 | SQ YD | \$40.00 | \$9,520.00 | \$23.71 | \$23.71 | \$23.71 | | |
| 27 | Z0018700 | DRAINAGE STRUCTURE TO BE REMOVED | 2.0 | EACH | \$500.00 | \$1,000.00 | \$512.50 | \$512.50 | \$512.50 | | |
| 28 | Z0055905 | TEMPORARY CONSTRUCTION FENCE | 505.0 | FOOT | \$3.00 | \$1,515.00 | \$9.48 | \$9.48 | \$9.48 | | |
| | | Bid Total | | | | \$227,143.90 | | | | | |